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Participant
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Test Center
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Subject Technician B Electrician
Section : Technician B Electrician
A ;
! RRYy BT AR Ui R R Ve R o 82
a) Q/Q°C b) u/Q °C ) U/°C d) Q/°C
Ans 4 A a
X B.b
X C.c
X D.d
Question ID : 2141273293
Status : Answered
Chosen Option: D
Q.2
Jadrel Ay __ 9 31t dis & g el fewrad gt 31
a) 1kw b) 10 kW c) 20 kW d) 100 Kw
Ans X A a
X B.b
X Cc
& D.d

Question ID : 2141273335
Status : Not Answered
Chosen Option : --




Q3

Ans

YfEpTd fiega Ao ot &1 % SR venfera 1) b o s g1

a) 440V b) 11 kV

X Aa
X< B.b
X C.c
& D.d

¢) 33 kV

d) 66 kV

Question ID : 2141273261
Status : Answered
Chosen Option: D

Q.4

Ans

froafifad & @ fow urg &1 soifdced TraR & TR SR fFavur & forg wa

eI foban e &2
a) df€l b) TgfAfaq

X Aa
X B.b
X C.c
& D.d

c)i?ﬂﬁ

d) A

Question ID : 2141273262
Status : Answered
Chosen Option : D

Q.5

Ans

T HT TR R Al Frar g
a) SfdePpa Alg b) S1Hd

K A a
& B.b
X Cc
o D.d

c) TR

d) Ijad

Question ID : 2141273272
Status : Answered
Chosen Option : D

Q.6

Ans

FHRIR T & fore wgaa I gmre: @it gl

a) ISP b) gadi drgl PGIEL

X Aa
X B.b
X C.c
& D.d

d) HTaA

Question ID : 2141273249
Status : Answered
Chosen Option : D




Q.7

Which of the following is a parameter of transmission line?

a) Resistance b) Inductance ¢) Capacitance d) All of the above
Ans X A a
X B.b
X Cc
& D.d
Question ID : 2141273263
Status : Answered
Chosen Option : B
e % Nfafid-slsd RIR-gab IUH HI WiFG-HIR & FU | fHg geR
TR f3T S Wb 82
a) T g ufeRivs S & ST 9
b) T F& YRS uferius & Iuaim 3§
¢) oz f&in & gerar
d) e S8Q-3MMgu St fd=0 B suan 4
Ans X A a
X B.b
wC.c
X D.d
Question ID : 2141273251
Status : Not Answered
Chosen Option : --
¥ qafema virve AT § AR A WA @ Ay
a) 3 fagqa areear b) 3o ATt Treidhdl
O FUATHARIF TG AP DI UG d) Iugaa it
Ans X A a
X B.b
X Cc
& D.d

Question ID : 2141273266
Status : Answered
Chosen Option: C




Q.10

Ans

% 3R ST & 7T Bt Aiex B a8aar & St 82
a) S e AR b) St RS AR

¢) eI HieR d) U@ Hiex

X Aa

& B.b

X C.c
X D.d

Question ID : 2141273296
Status : Answered
Chosen Option: A

Q.11

Ans

U BIc @I &1 FHN9eH 240 VET H 12 APic diaar s | U ue 15 fiife
# Il @t fat gfe 31 @ua gnfte
a) 3.312 b) 3.6 ) 6.0 d)7.2

X Aa
& B.b
X C.c
X D.d

Question ID : 2141273292
Status : Not Answered
Chosen Option : --

Q.12

Ans

UHd Wbyl e & TH gl OiF &l YHIdd HRUT 1 gidl a2
a) 3= diecd by Qe S Bex Blgd
¢) g dieew d) Sudad gt

X Aa
X B.b
X C.c
& D.d

Question ID : 2141273319
Status : Not Answered
Chosen Option : --




Q.13

Ans

YTafd &1 UleR Ues e wR vk ean 27
a) @S b) e I Tfa ¢) BR 81 d) 3R g1

W A a
X B.b
X C.c
X D.d

Question ID : 2141273298
Status : Answered
Chosen Option: A

Q.14

Ans

IR Hiex & Ma-HR sfiaeor FofafEd § @ feg g & wew gk 82
a) SR ¥R AR b) St <fe Fex

¢) ¥4 fagga Mex d) SRit HFUds Ay

X Aa

& B.b

X C.c
X D.d

Question ID : 2141273308
Status : Not Answered
Chosen Option : --

Q.15

Ans

IR SIS FEud e FRar gl
a) uRMyF b) Uatie ¢) e FAarie d) e Fams

K A a
& B.b
w C.C
X D.d

Question ID : 2141273331
Status : Answered
Chosen Option: C

Q.16

Ans

TR FUH IRRIUS H Ugd IHFR AR 6w Joft F St omar 1 g
UISH & gaad Ugd Gare &1 uiRomdt ufekiy g

a) 1/16 T[0T b) Y4 T[ON c) 4 7ON d) 16 T[OT

o Aa

X B.b

X Cc
X D.d

Question ID : 2141273289
Status : Answered
Chosen Option: A




Q.17

Ans

& JeaaTe A & for Fafifa § @ 4 @ o e 7€ &2
a) feafmedurgif by aiEr e o) peaH gIA d) HR 81l

X Aa
& B.b
X C.c
X D.d

Question ID : 2141273301
Status : Answered
Chosen Option: D

Q.18

Ans

TP UH -l UIaR Uedh Hiex & 31 316 Bised & aid ol fiar ___ gt g1
a)0° b) 90° ¢) 180° d) 270°

X Aa
& B.b
X Cc
X D.d

Question ID : 2141273254
Status : Answered
Chosen Option: A

Q.19

Ans

UfRER fHud sRIeR g 87
AFAHxTBS  b) FAHADS o AeAbs | d) M/ dlT

X Aa
& B.b
X C.c
X D.d

Question ID : 2141273284
Status : Answered
Chosen Option: B

Q.20

Ans

=

foa Hiex ¥ UraR | TS &1 S UTd T 31l giar 82
a) 94 fagga diex b) IR&@ Hrex

¢) qeasbTe AreR d) Feria AeR
& Aa

X B.b

X C.c
X D.d

Question ID : 2141273309
Status : Not Answered
Chosen Option : --




2 g I HieR A O F T v 9 ¥ R 0 e § 99 o

vfdrd g g1t 82

a) Qe Targes Hiek b) YRS AreR
¢) Yie HieR d) HURSS AR
Ans X A a
«” B.b
X Cc
X D.d
Question ID : 2141273248
Status : Not Answered
Chosen Option : --
Q.22

Ans

0.14 mm 3 3R 96 na-m ARy UfeRiY 9T UF IR 440 cm W1 8, 39

TR &1 ufeRie g
a)960 b)11.30Q

K A a
X B.b
X Cc
o D.d

g 137 .0 d)27.5Q

Question ID : 2141273291
Status : Not Answered
Chosen Option : --

Q.23

Ans

3T~ HE o =i fepafon 3 o 82
a) UIR UTH &I Hafdd & & fog
¢) T Il B! HH B & g

K A a
& B.b
X Cc
X D.d

b)-3Th Y fRR B F forg
d) Iudad it

Question ID : 2141273267
Status : Answered
Chosen Option : D




Q.24

Ans

Which of the following is not an integral part of synchronous generator system?
a) Prime mover b) Distribution transformer

c¢) Excitation system d) Protection system

X Aa
& B.b
X Cc
X D.d

Question ID : 2141273300
Status : Answered
Chosen Option: B

Q.25

Ans

IR AieRl 31 fagdu o g areft @ ot gt 82
a) dfa b) PTaT ) PRGR HIE d) PlaTee Ea

X Aa
X B.b
w C.C
X< D.d

Question ID : 2141273304
Status : Answered
Chosen Option: C

Q.26

Ans

ol gieREEey & 9y ¥aivF & e % RIfTeT crRepiik & W o
SFARW|R Bl gl

a) Uhd-Bdl o b) fg-tel Haar

¢) B-%9 Head d) IUad & 9§ Bl ol

X Aa

o« B.b

X Cc
X D.d

Question ID : 2141273252
Status : Answered
Chosen Option : B

Q.27

Ans

ity e faa Y Y& Ul R Gl g |
a) A glde b)) IAAWHNE ) Al d) 3fiaR dieeol

X Aa
X< B.b
«C.c
X D.d

Question ID : 2141273283
Status : Answered
Chosen Option: B




Q.28

Ans

Had A UZ<H B! SIg AT Fiehe BT AHTH TS 1 81 Gobell 82
a) 400 d@ic b) 600 d@Te ¢) 800 die d) 1000 dfe

X Aa
X B.b
o« C.c
& D.d

Question ID : 2141273273
Status : Answered
Chosen Option: C

Q.29

Ans

Which of the following make use of universal motor?
a) Floor polishing machine b) Oil expeller
¢) Portable tools d) Lathe machines

X Aa
X B.b
wC.c
X< D.d

Question ID : 2141273313
Status : Answered
Chosen Option : D

Q.30

Ans

3 UfRIY® R1 3R R2 YRS H 9IS M W 4.5 Q 3R FAATR SIS o W)
10 &1 Fd TRy e Fa 8 | TRRiv® IR o & gt
a)40,050Q b)y20, 250 454330 d)10,350

K A a
X B.b
w C.c
X< D.d

Question ID : 2141273286
Status : Answered
Chosen Option: C

Q.31

Ans

R MY Bt eesl 220 V 81 T8 3 o1 T Bl 67
a) 7 A b) RM.S. AF
¢) 3if¥pan A= d) 3d A

X A a
& B.b
X Cc
X< D.d

Question ID : 2141273241
Status : Answered
Chosen Option : B




Q.32

Ans

o B  3ife} TRapiHR 1 2-arEfET TRapik & goraa qeT oy o &7

a) PR el v g ardt 21 b) afET T Bt a9q gkt 1
¢) ATH- 1 & SRIR eidl 8 d) uf &1~ yufa: Tara g ot 31
X Aa

& B.b

X C.c
X D.d

Question ID : 2141273281
Status : Answered
Chosen Option : B

Q.33

Ans

-0 U RS AR RAS TG g

a) SYUPI UG’ e gedl offdl o

b) IHSHT TR U uiafdd & gl

¢) TP UIR UTH Fedl STl g |

d) IUHT UIR U QU1 IS a0 Sgal ol g 3R b ge e 81
X Aa

X B.b

K C.c
o D.d

Question ID : 2141273305
Status : Answered
Chosen Option: A

Q.34

Ans

SfTaTaeTel= fRyfadt & Siefi= afd & forg Juere oRfEa Iage &, St
e # e Bt fibq af ifdR d TR eIdt €, wea 21

a) glc Rord b) Pics Red. . - ¢) R Red d) B UrR

X Aa

& B.b

X C.c
X D.d

Question ID : 2141273326
Status : Answered
Chosen Option: D




Q.35

IfE U G & e dieed ¥ 60° 3T B, I ITH] UTR Ueh g

a) 0.6 b) 0.5 ) 0.9 d) 0.866
Ans X A a
& B.b
X C.c
X D.d
Question ID : 2141273253
Status : Answered
Chosen Option: B
Q.36
In a single phase capacitor motor, the direction of rotation will be in the opposite
direction to the original when
a) Electrolytic capacitor is replaced by paper capacitor
b) Capacitor is connected with reverse polarity
c) Capacitor is replaced by a resistance
d) Capacitor is replaced by an inductor
Ans X A a
X B.b
K C.c
o D.d
Question ID : 2141273316
Status : Answered
Chosen Option : B
Q.37 5 <
T ST B &1 UATad! a< & a1 Wl 341 81T, 518 U i SHftsad
HA W 3R gE T W Bt 82
a) 0° b) 45° c) 90° d) 180°
Ans X A a
X< B.b
w C.c
X D.d

Question ID : 2141273323
Status : Answered
Chosen Option: C




Q.38

Ans

TaTS STgTil ¥ Wad Uerafal Bl SMgfy SR W ___ gt 81

a) 50 Hz b) 60 Hz ¢) 100 Hz d) 400 Hz

X Aa
X< B.b
X C.c
& D.d

Question ID : 2141273299
Status : Answered
Chosen Option: D

Q.39

Ans

e it gfthe gR1 @il 78 3ruRf ureR 10 kvA 3R Tfha ureR 8 kw Bl
e # fRufdeg urar il

a) 4 kVAR b) 6 kVAR c) 8 kVAR d) 16 kVAR

X Aa
 B.b
X C.c
X< D.d

Question ID : 2141273321
Status : Answered
Chosen Option : B

Q.40

Ans

fferer & U Knee-dles &y BT gl
a)04vVv b)0.3V )07V d)15V

K A a
& B.b
" C.c
X D.d

Question ID : 2141273258
Status : Answered
Chosen Option: C

Q.41

Ans

For a sine wave with peak value 10 V, the R.M.S. value is
a5V b)7V )9V d) 14V

K A a
& B.b
X Cc
X< D.d

Question ID : 2141273322
Status : Answered
Chosen Option : B




Q.42

Ans

frafifad & 9 f s @1 ufcRly 9e &4 g

a) 220 Volt, 60 Watt b) 220 Volt, 100 Watt
) 115 Volt, 60 Watt d) 115 Volt, 100 Watt
X Aa

X B.b

X Cc
o D.d

Question ID : 2141273287
Status : Answered
Chosen Option: A

Q.43

Ans

IR TR 3{Efild YR &I UlaR 9T gl gl
a) UHd b) GTTHT c) 3RATHL d) I

X A a
& B.b
X Cc
X< D.d

Question ID : 2141273264
Status : Answered
Chosen Option : B

Q.44

Ans

1MQ=

a)10°n b) 10° pQ ¢)'10° ma d)10° nQ

X Aa
X B.b
w C.c
X D.d

Question ID : 2141273285
Status : Answered
Chosen Option: C

Q.45

Ans

I g TRPBIHR H TR TR SIH-81 SR 3TN a1 &1l 82
a) didl HR b) @ig HR Q) Hg LA R d) 9] HR

X A a
X B.b
X Cc
o D.d

Question ID : 2141273324
Status : Answered
Chosen Option : D




Q.46

Ans

q@R¥eH=__ 7
a) kKW/KVA

Q) R/Z

X Aa

X B.b

X C.c
& D.d

b) S U4 diced & §id & DIl HI DI
d) Sudad g+l

Question ID : 2141273244
Status : Answered
Chosen Option : D

Q.47

Ans

Ife Uh ST A B R U@ g, | daS g 3R v T g, A ARG EMF

R e s

a) Blv b) Blv?

o A a
X B.b
X C.c
X D.d

) Bl*v

d) B2lv

Question ID : 2141273325
Status : Answered
Chosen Option: A

Q.48

Ans

LED 3T &t e o gielt 82
a) <15 Im/W b) 25-35 Im/W

X Aa
X B.b
X Cc
& D.d

¢ 45-55 Im/W

d) >80 Im/W

Question ID : 2141273336
Status : Answered
Chosen Option: B

Q.49

Ans

Which of the following device is not used for cooling in a refrigerator?

a) Throttling device

X Aa
& B.b
X Cc
2 D.d

b) Evaporator

¢) Compressor

d) Condenser

Question ID : 2141273268
Status : Answered
Chosen Option: B




Q.50

Ans

YR R & 3ref7 gt wum gl &t emar &l _ g1 i fean
S gl g

a) TI1¢ fde giefur b) 31U wfhe gfiemor

¢) 8% T 9 Tden d) Iuga et

X Aa

X B.b

wC.c
X D.d

Question ID : 2141273246
Status : Answered
Chosen Option: C

Q.51

Ans

3-Thel 4-aTAR YUTTeHl &1 SHTHAR TR faaferg wai fasar sirar 82
a) T4l TRoT b) fecitas yaRor

¢) Wi faaRor d) feciae faarur

X Aa

X B.b

X Cc
& D.d

Question ID : 2141273265
Status : Answered
Chosen Option: B

Q.52

Ans

TR # Aig SHiR® SUART H HI13e”T . garg!

a) iR &1 &t &0 Fe b) TfE HiC 81 B HH HAT

¢) $ETH B! UERT Y& HAT d) 9e1g 9Y H1 Ry HH HIA
X A a

X B.b

X Cc
o D.d

Question ID : 2141273277
Status : Answered
Chosen Option : B




Q.53

Ans

g U IS0 & FEdR A1 & fo7¢ T QA1 &Y, At 98 SuH
STERU Hdl 8 Gl ¢
a) af fam b) TS f1ad s fam o) Fige FHam

X Aa
& B.b
X C.c
2 D.d

Question ID : 2141273256
Status : Answered
Chosen Option: C

Q.54

Ans

B F UG H AR R HH-HI Thdl Pl HIe TarT H1 St 82
a) fReTe e TBR b) HTRE TRY THR
¢) G IR Td 3 239 d) R G IR
X Aa
X B.b

X C.c
& D.d

Question ID : 2141273314
Status : Answered
Chosen Option: D

Q.55

Ans

TS Ul o= & Sfavifie ge SR Ul oife € 1 U m=fiA & fore frw wam
! St Hier Iuge Teit?

a) ¥R Al b) <ie AleX

o) Tt e Hiex d) e 9 Aer

X Aa

X B.b

« C.C
X D.d

Question ID : 2141273297
Status : Not Answered
Chosen Option : --




¥ siteriaTea Sl @ Tt B F Ry R TR ¥ TReR @t adtaar 3
Tt 27
a) WIS o eR b) ¥fe SRR
¢) HUNES FeX d) Sudaa # A 1S ot

Ans X A a

& B.b
X Cc
X D.d

Question ID : 2141273294
Status : Answered
Chosen Option: B

Q.57
Which of the following property is not necessarily desirable in the material for

transformer core?
a) Mechanical strength b) Low hysteresis loss
¢) High thermal conductivity d) High permeability

Ans X A a
X B.b
o C.c
&< D.d

Question ID : 2141273280
Status : Answered
Chosen Option: A

%% Rrorft SRep wirew & WP FYe __ drarel

a) Fraa &ie &1 3 by Frd Fe & /&R

¢) Fraa &ie &1 ama S d) Fad &3 &1 @ 6 T
Ans X A a

X B.b

X C.c
& D.d

Question ID : 2141273307
Status : Answered
Chosen Option: C




Q.59

Ans

Which motor has unsymmetrical rotor?
a) Universal motor b) Shaded pole motor

¢) Split phase motor d) Reluctance motor

X Aa
X B.b
X Cc
& D.d

Question ID : 2141273318
Status : Answered
Chosen Option : D

Q.60

Ans

Geia A YRY 811 arell T el ol IRbd HIeT H IR W ____ UraR Ueh

gargl
a) 0.8 3ATHL b) 0.8 TTH ¢) 0.6 3TTTHL d) 0.6 THATTHT

K A a
& B.b
X Cc
o D.d

Question ID : 2141273310
Status : Answered
Chosen Option : D

Q.61

Ans

fardt IR mex # oo 35t uRe 5w oo @ 81t 87
a) 3 diecol b) 3= @S

¢) ST g% safaT d) Hte 7 fasfya qomgf
X Aa

X B.b

X Cc
 D.d

Question ID : 2141273306
Status : Answered
Chosen Option : D

Q.62

Ans

R a1y Sof fhud gRT Yiord &1 o Yavdl! 82

a) fRfraiee & Swm | b) TRIE We Haaex & IUanT A
¢) TieR Ui & Iug | d) 30 H ¥ $I5 o+t

X Aa

X B.b

X Cc
& D.d

Question ID : 2141273250
Status : Answered
Chosen Option : B




Q.63

Ans

Ripple factor of full wave rectifier is
a)0.38 b) 0.48 c)0.58 d) 0.68

K A a
& B.b
X Cc
X D.d

Question ID : 2141273259
Status : Answered
Chosen Option : D

Q.64

Ans

YIP 1 T gRT AR & SO F A IAAG B ___ Fed gl
a) TR HeA b)q 8™ d) 9|

X Aa
X B.b
« C.c
X< D.d

Question ID : 2141273279
Status : Answered
Chosen Option: A

Q.65

Ans

In a transformer the tapings are generally provided on
a) primary side b) secondary side
¢) low voltage side d) high voltage side

K A a
& B.b
X Cc
& D.d

Question ID : 2141273278
Status : Answered
Chosen Option: B

Q.66

Ans

U UTaR TREBTHR BT &HaT TTHT Bt gl
a) 100 % b) 98 % c) 80 % d) 50 %

X Aa
& B.b
X C.c
X D.d

Question ID : 2141273275
Status : Answered
Chosen Option : D




Q.67

Ans

s qifer FafafEa & ¥ oar ufvafda sxarg?
a) T TR &) St uraR H b) 314t UraR &) T} UraR |
¢) i ureR &f Tt yraR A d) Tt uraR & T U H

X A a
& B.b
X C.c
2 D.d

Question ID : 2141273260
Status : Answered
Chosen Option : D

Q.68

Ans

T ST 1:2 3R 200 Vv AC 3MYf F 10 A He WieA 914 U 3M1eef Tha-
Pl TEpIR & Yoy § FAuffad § § SH-91 $YF 7o 87

a) 391 fgdias e 5 AR b) 391 fercfiae dlees 400 v B

¢) AP AT 2 kVA B d) 391 fgcias e 20 AR

X Aa

X B.b

X Cc
& D.d

Question ID : 2141273328
Status : Answered
Chosen Option: A

Q.69

Ans

NAND ¢ e & Sfad § e F T gl
a) NOT, AND b) AND, NOT ¢) OR, NOT d) OR, AND

X Aa
& B.b
X C.c
2 D.d

Question ID : 2141273333
Status : Answered
Chosen Option: D




Q.70

Ans

PNURF SIS AU H _ giaiel
a) 3aed & b) Tepiof =T
o) & &= d) TP &

o A a
X B.b
X Cc
X D.d

Question ID : 2141273332
Status : Answered
Chosen Option: A

Q.71

Ans

Tad IS H FufafEd o § HH-a1 e @er fAfRa giare?
a) [a&d IuaRT b) FEFe IRl
¢) 3faHE IUHI0 d) Sudad Gt

X Aa
X B.b
X Cc
& D.d

Question ID : 2141273327
Status : Answered
Chosen Option : D

Q.72

Ans

fraffad o 9 3-Od IR Hied & forg i, Fazu & wad &0 gam fafy
FH-q 72

a) Prehs Az b) gtd uRad=

o) Farefes feaur d) BTEBS 3R Ud ufkad &1 firsmr

X Aa
X B.b
wC.c
X D.d

Question ID : 2141273269
Status : Answered
Chosen Option: B




Q.73

1pF =
a) 10°F b) 10 nF c) 10 mF d) 10 uF
Ans X A a
X B.b
X C.c
& D.d
Question ID : 2141273339
Status : Answered
Chosen Option: D
Q.74
fafiiad afde H diecdiex v fhae diecs @mom?
180
90 a0
e e a) 42V
2, @ b)48V
7.2V
12v :
@ J_ d)9.6V
Ans X A a
X B.b
o« C.c
X D.d
Question ID : 2141273338
Status : Answered
Chosen Option: C
.75
7 o et Hier B g ol & SIS TR R 9E :
a) A TH Hai| b) T T W Faft
¢) T UTaR GTF TR Tt d) Sdaa vt
Ans X A a
X B.b
X C.c
o D.d

Question ID : 2141273315
Status : Answered
Chosen Option : D




Q.76

Ans

U TR | Al-d1s die g gl
a) Aiee ¥ U 75° i b) diees ¥ THT 75° T
¢) diees ¥ TTHT 15° Ui d) Aieesl o THT 15° 3MFT

W A a
X B.b
X C.c
X< D.d

Question ID : 2141273274
Status : Not Answered
Chosen Option : --

Q.77

Ans

% U0 by OIS & UIGR USH B TUFT 99 B off Il 3, A
JUHRU UG Bl |

a) T dleeHieR 3R T THie

b) U dieeHieR, Us WHieR 3R U dieHier

¢) T drecHiey, Us WfieR 3R U Tolf dieR

d) U dleHier

X A a

& B.b

X Cc
X D.d

Question ID : 2141273255
Status : Answered
Chosen Option : B

Q.78

Ans
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